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he The inequality | x + 2| < 3 can be written as —5 < x < 1, so we test the series at
of the endpoints —5 and 1. When x = —35, the series is
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which diverges by the Test for Divergence [(—1)"n doesn’t converge to 0]. When x = 1,
the series is .
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which also diverges by the Test for Divergence. Thus, the series converges only when
—5 < x < 1, so the interval of convergence is (—5, 1): i
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| 12.8 Exercises
i
l. What is a power series? 2. i (4x 4; Tz %. i (=1 (2x1+ )2
1. (2) What is the radius of convergence of a power series? e 1t g el
How do you find it? el S
(b) What is the interval of convergence of a power series? 7. Z‘z (In n)"
How do you find it?
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318 1 Find the radius of convergence and interval of convergence 12305000 (20— 1)
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3 S aEs 4 i (Craliies 29. If 250 c,4" is convergent, does it follow that the following
e = IS g series are convergent?
z (=)l s - S —2) b 3 —4)"
g 3 @Fecr o ey
= > 30. Suppose that =7 c,x" converges when x = —4 and diverges
» b 8.7 when x = 6. What can be said about the convergence or diver-
- b gence of the following series?
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2 n % 2n 31. If k is a positive integer, find the radius of convergence of
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-’ =0 /9 32. Graph the first several partial sums s,(x) of the series L
2 (x +2) 5 (=2) together with the sum function f(x) = 1/(1 — x), on a
- —— 18. 3 (x + 3)" On what interval do these partial
) " e K134 common screen. On what interval do these partial sums appear
to be converging to f(x)?
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! . : is called the Bessel function of order 1.
Y nl2x — 1) 2%, 3 ney * (a) Find its domain.

(b) Graph the first several partial sums on a common screen.



